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.[1] Which two scientists proposed the theory of evolution by natural selection?

2 Maths Made Easy

Answer all questions in the spaces provided.

The theory of evolution states that organisms alive today evolved by natural selection
from other species that are now extinct.

[2 marks]
Tick (V') two boxes.
Alexander Fleming
Alfred Russel Wallace Vi
Carl Linnaeus
Carl Woese |
Charles Darwin o ﬁ

|

Fossils provide evidence for evolution.
Figure 1 shows a fossil footprint of a dinosaur.

Figure 1 i
|
|
|
J

= ]
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[0]1].[2] Whatis afossil?

[2 marks]
/rhl- Kmains ch ar or@wi.sm '/rom a /0"3 plma
Qo Pt Aos beon pesuved in Some Stask

NG Hna.

‘ [0]1].[3] How was the fossil in Figure 1 formed?

[1 mark]
| Tick (v') one box.
|
|
| Body parts were replaced by minerals.
| L poaterial hod o
| The animal walked on mud. \/ ?c;v?pw.ts R
| Sonwutng .
f The animal was frozen in ice.
|
|
‘ [0]1]).[4] Dinosaurs are extinct. :
[2 marks]

‘ Give two causes of extinction.
|
|

1 [ catashopWe eVt (he askestdh coblisem las.lﬂd
lo wotpr thum oudt

2 Chq.ng,x on ther hajtat ke ol cue f- Ver qga |

and Jhty oo unadle to adaph fasi enoug |

Question 1 continues on the next page |

MU

Turn over »
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[0]1].[5] Which two of the following provide evidence for evolution? bk
[2 marks] |

Tick (v') two boxes.

Bacteria can become resistant to an antibiotic. \/

Early forms of life lived in the ocean.

i cMion
Older fossils are simpler than more recent ones. / 5:m Complex
b:;,g Ju/m
Older layers of rock are closer to the surface. ' _9"'

L

0 4
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Many internal processes of the human body are controlled by hormones.

Hormones are produced by glands.

Figure 2 shows glands in a woman's body.

Figure 2

' [0]2].[1] Which gland is the pituitary gland?

Tick (v') one box.

A ./ B c D

Fonndd &0
| brag®

| [0]2].[2] Whichgland is the pancreas?

‘ Tick (v') one box.

Maths Made Easy
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[1 mark] |

[1 mark]

i 8 c D \/' Aoclonenad |

LT
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The hormone insulin helps to decrease the blood glucose concentration. biow

Insulin causes its target organs to take in glucose from the blood.

[0]2].[3] Which of the following is a target organ for insulin? |

[1 mark]
Tick (v') one box. .
|
|
Bladder
Heart I
9 o"
Liver / W a | o}. o
qhﬁooau ¢S
She-td.
: [Z] The glucose is stored as an insoluble substance.
What is the insoluble storage substance that is formed from glucose?
[1 mark]
Tick (v') one box.
Glycogen
Protein |
Urea
Question 2 continues on the next page |
Turn over »
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Scientists investigated the effect of a glucose drink on the concentration of glucose in |

a person'’s blood.

This is the method used.

1. Take a small sample of blood from the person.

2. Measure the concentration of glucose in the person'’s blood. '
3. Give the person a drink containing 50 grams of glucose.
4. Measure the concentration of glucose in the person’s blood at intervals. i

5. Calculate the change in blood glucose concentration from the starting value.

Figure 3 shows the results.

Figure 3

Change in
blood glucose
concentration
in mmol/dm3

24—

144/ 44
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] | Timein minutes || 1t |
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Figure 3 shows the change in blood glucose concentration. | box
E] At the start of the investigation, the blood glucose concentration was 5 mmol/dm?. '
Calculate the highest blood glucose concentration during the investigation.
Use information from Figure 3 in your answer. -
[2 marks]
Qeol o 10nun = 2.6 chame (1 pmenct /dm® ]
5 mmol fdm® + 0. prmd [A? = . ( ramd Jdiad
S bout b taorens® by 3 Lalaﬂ
Highest blood glucose concentration = 7.6 mmol/dm?
|
|
|
[0]2].[6] Whatis the time taken for the blood glucose concentration to decrease from its
| highest value back to the starting value?
| Use data from Figure 3 in your answer. ,
l [1 mark]
|
Begesr ak 20 normal giouin o SO = SO-20 = 20 awn
v hY u -
Time taken = 30 minutes
[0]2].[7] Why can you not be certain that your answer to Question 02.6 is accurate?
[1 mark]
|
| .
i ’T“JO nea Surinaeaks dn-!-*@ if.oq- anma..a}'ox.ﬁma ZOan.A_S
I @HPMF' C(Ju.lﬁl bb QuAar, "-C'\a-ﬂ. L'ALLI‘UQD‘\ .
|
_ Figure 3 shows the results for a person who does not have Type 2 diabetes.
Sketch a line on Figure 3 to show the results you would expect for a person who has |
Type 2 diabetes. ' _1 0
[2 marks] |

Turn over for the next question !

Turn over b

it
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People eat fish caught in the North Sea. box
Figure 4 shows a food chain.
Figure 4

%
l
ﬂ%
|
| A

Algae Small Herring Human
animals

Not to scale

| m The algae make glucose by photosynthesis.

Which two substances do the algae need for photosynthesis?

[2 marks]
Tick (v') two boxes.

Carbon dioxide v

Nitrogen

Oxygen

Starch

Water \/ [

i

1B/M/Jun21/8461/2F
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What is the source of energy for photosynthesis? box
[1 mark]
Tick (v') one box.

Light Pl

Mineral ions

Protein

Water

Which pyramid of biomass is correct for the food chain shown in Figure 4? .
[1 mark] |

Tick (v') one box.

Wi

T o o =g

Turn over »
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Figure 5 shows the biomass of adult herring in the North Sea between o
1950 and 1990,
Figure 5

304

2.5+

2.0+

Biomass of
adult herring
in millions of
tonnes

1.0ttt

0.5 +———t—

! .y | vt @ = |
1950 1960 1970 | 1980 1990
Year AT
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[0]3].[4] Toomany herring were caught in the 1960s. i

Calculate the percentage decrease in the biomass of adult herring between
1960 and 1970.

Use the equation:

(biomass in 1960 - biomass in 1970)
biomass in 1960

percentage decrease = x 100

Give your answer to the nearest whole number.
[4 marks] |

_btomass ta 1970 = 0.5 paulliony ¢ Jonnas
Lromass cn 1960 = 1.5 million cf}om

ﬂas = 0'5-
pQ.rCU\l-M,uL Aenese = 2.3 *100 = 72.26 08 69..
=> 78 %

Percentage decrease = 78 %

From 1977, laws were introduced to help conserve herring.

' [0]3].[5] Describe the change in biomass of adult herring from 1977 to 1990.

Use data from Figure 5 in your answer.
[2 marks]

At has shosted to inorease | Jorst cl—tdof('é, Jhen Maomt
roiolly . ft hos aicrasedd from .4 Yo 4.8 millcon
bonwas , Yaoks 1.7 vcllion toaues lifleroncs .

Wi

Question 3 continues on the next page

Turn over »
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IE:] One of the laws was to control mesh size of fishing nets.

Wi

Figure 6 shows a fishing net with a legal mesh size.

Figure 6

Fishing net

—

Mesh size

Herring can live for up to 12 years.

Herring start to reproduce when they are 3 to 4 years old.

Explain how the control of mesh size of fishing nets has helped to conserve stocks

of herring.

Ak

Maths Made Easy

| Do not write
| oulside the

8-year-old herring |

4-year-old herring

[2 marks]

Mash s holes \aﬁﬁﬂ. .wa;\r\ ,[lc;( 0l yeos ol and

Lnd-uw{maﬁvs Can_ R rodlucl Yo uzph.msh pop.J*de Locth ‘

box

o \,dou/'l_g fﬁh-

|B/M/Jun21/8481/2F
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I!III 'tl;‘he human eye can form images of objects that are at different distances away from ousido
e eye.

Figure 7 is a diagram of the eye. |

Figure 7

Ciliary muscle

Sclera ‘
Suspensory ligament

Retina

|
c_Optvcal noyve

[0]4].[1] Label structures A, B and C on Figure 7.

[3 marks]
Choose answers from the box. .
|
cornea eyelid iris lens optic nerve |
|
e — - e ——————— - - === ===
I —
16
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The eye in Figure 7 is focused on a distant object.

If the eye then focuses on the words in a book, changes would occur in the eye.

The light rays would be refracted more by the lens.

[0]4].[2] How does the lens refract the light more?

Tick (v') one box.

By becoming longer

By becoming thicker

By becoming transparent

[0]4].[3] Which two structures control the shape of the lens? |

Tick (v') two boxes.

Ciliary muscles

Cornea

Iris

Sclera

Suspensory ligaments

v

v

m WMUW |

Al

[2 marks]

Who\d 'mpl&ce, |
so o b gheched. |

:. [4] Toform a clear image, the light rays entering the eye must focus on one structure in |

the eye.

Name the structure.

The rekcne (Car&w\;'ns Cows and reds Qs %H Rugghers )

|
|
[1 mark] |

Question 4 continues on the next page |

17

Turn over »
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@ An insect flies near_a person's é e. The ; erson bli . | ‘90 atw
: . n ; ;
This is a reflex action. Y 2 L | outakle
Figure 8 shows the coordination system for this reflex action. '
Figure 8 |
1 Stimulus ] |
1
Light from insect
A
2 Receptor
WAcno
|
vy i
3 Coordinator ‘
L} |
orawn |
|
A
4 Effector
Mascdos
|
v |
5 Response !
|
The person blinks l
Complete Figure 8. |
[2 marks]
Choose answers from the box below. |
Write one word in each of boxes 2, 3 and 4 of Figure 8. |
|
brain cornea iris muscles retina i 9
R ~ S = - |
M -



[o]s].[4]

AL

Maths Made Easy

19

Potato blight is a disease of potato plants.
Potato blight is caused by the fungus &ytopmhorgl infestans.l _
Quans spewed !

What is the genus of the fungus that causes potato blight?

[1 mark]
Tick (v') one box.
infestans
Phytophthora \/
Phytophthora infestans
The fungus grows near the surface of the potato. ‘
How does growing near the surface help the fungus to respire? ;
[1 mark]
Tick (v') one box.
The fungus can get nitrogen from the soil.
The fungus can get oxygen from the air. \/ OJUUW 3
wo bSOy, J-o-f
The fungus can get water from the potato. g cock o ‘
Question 5 continues on the next page |
|
|
Turn over »
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. | ousko
A farmer sprays his potato plants with a pesticide. box

The pesticide kills the fungus that causes potato blight.

Spraying the crop with a pesticide could decrease biodiversity in a river flowing
through his farm.

What does ‘biodiversity in a river’ mean?
[1 mark] |

Tick (v') one box.

The variety of species of animals in the river.

\/ Yo voollvasst by aecaunts
fr O gpeciey:
animals Cnd '
The variety of species of plants in the river. pm}s i

The variety of species of organisms in the river.

The farmer sprayed pesticide on his potato plants. The next day it rained heavily.

Explain why the biodiversity in the river decreased.
[2 marks]

WS"'C&{L washed Oﬂ- 'p/an{s 62, e roun and VA howelsd
Lo Yo &5 o the ground weder. One b
rver ¢f haths Grgasmisms n the nvesr as pesh'icles

il o rovige d'}' 0"5&#\.&'9‘15, |

Another method of preventing potato blight is to breed potatoes that are resistant
to blight.

Resistance to potato blight is controlled by two alleles:
R = a dominant allele for having resistance to blight. ‘
r = a recessive allele for not having resistance to blight.

A scientist crosses two potato plants. Each plant has the genotype Rr. ‘

1B/M/Jun21/8461/2F
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[0]5].[5] Complete Figure 9 to show the possible genotypes of the offspring produced. e
[2 marks]
Figure 9 |
Male gametes
R r
RR
Female Rr
gametes
v @
|
|
_ Draw a ring around one of the homozygous genotypes in Figure 9. !
[1 mark]
R o rr
| _ What percentage of the offspring in Figure 9 will be resistant to potato blight?
. [1 mark]
. Tick (v) one box.
|
|
| 25% 50% 5% 100%
AW R and Rv ‘:ﬂ}sl”‘:"j
' [0]5].[8] Potatoes can also reproduce asexually.
| Potatoes from one plant can be planted in the ground to produce new potato plants.
All the new plants from a parent plant that is resistant to blight will also be resistant
to blight. |
|
| Explain why.
: [2 marks]
‘ Law plants asre Clones 9f Jha ymotys D\M\' uoin
| v - T
b&wﬂ'wﬂ% kel o o 0!3[5‘7—“:’3 s Prodh.d.a'
f-'ﬂﬂou@\r\ nCloses nok mesoses. |

. |
' Turn over for the next question

Turn over »

AW —
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A student estimated the percentage cover of buttercup plants in a field.

The student used a quadrat. |

The quadrat was divided into 25 equal squares. :

Figure 10 shows the quadrat.

Figure 10 ‘

Metal wire |

| This is the method used. ‘
1. Place the quadrat on the ground. |
2. Record how many squares in the quadrat contain buttercup plants.

3. Place the quadrat in a new position in the field. |
4. Record how many squares in the quadrat contain buttercup plants. '

5. Repeat steps 3 and 4 another three times.

2 &

1B/M/Jun21/8481/2F
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[0]6].[1] What method should the student have used for placing the quadrat?

Tick (v') one box.

Place the quadrat where there are many buttercup plants.

Place the quadrat only where there are no trees.

Place the quadrat using random coordinates.

Use the same person to place all the quadrats.

[1 mark]

Voo
Podom

JC no
puasey

The student calculated the percentage cover of buttercup plants for each quadrat.

Table 1 shows the student's results.

Table 1
Quadrat Number of squares Percentage cover of
number containing buttercup plants buttercup plants
1 10 40
2 13 52
3 22 88
4 20 80 |
5 10 40
|
Mean X -
[0]6].[2] Calculate mean value X in Table 1. |
[2 marks]
Lo45s2 +88 480+40 . 300 - (0
5 s =
X = Go %
Question 6 continues on the next page
Turn over »

23

IB/M/Jun21/8481/2F

Do not wri
outside th
box



24 Maths Made Easy

Do not wr
Table 1 shows that quadrat 1 and quadrat 5 each had 40% cover of buttercup plants. | e

Figure 11 shows the results for quadrat 1 and quadrat 5.

Figure 11

Groups of buttercup plants Group of buttercup plants

AN
™\

Quadrat 1 Quadrat 5 i

[0]6].[3] The student’s method of estimating the percentage cover of buttercup plants
is not accurate.

How does Figure 11 show this?
[1 mark] |

Tick (v') one box. "

Quadrat 1 has more groups of buttercup plants.

The area of buttercup plants in quadrat 5 is much larger. ‘/

The buttercup plants are in ten squares in both quadrats.

||"|II ‘m‘ Im ml 1B/M/Jun21/846 1/2F
2 4
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The student wanted to get a more valid estimate of the percentage cover of buttercup b
plants in the field.

Suggest two improvements to the method to make the results more valid.
[2 marks]

1 _Clow 0wt Mot peposts by placcms rort rasdon
Qresoests | pmply & [arser popion g Hlu Jelol.

2 [fskunate |k @)umhy cover un @ ch Quackret, rokas
then pecorolin pestnce of okstnee only.

Give three environmental factors that would affect the growth of buttercup plants

in a field.
[3 marks]

1 Wodfer
2 [eah#

L ‘
3 ringsal a»cla.,br:td;, 9 e socl 9

Turn over for the next question

Turn over »
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(0]7] Scientists are very concerned about the changes in concentration of carbon dioxide in
the Earth’s atmosphere.

Figure 12 shows the concentration of carbon dioxide in the atmosphere between
1988 and 2014.

Figure 12

430"“"_;'_'".‘"'_'I'” e S { —t

410

Concentration of
carbon dioxide in
the atmosphere

in arbitrary units 390

370

350 1990 1995 2000 2005 2010 2015

Year

| m Describe two patterns shown in Figure 12.

Use data from Figure 12 in your answer.
[4 marks]

1 Queralh 602 Concenbalon (nURases betwe 1988
Qud 2004 by 54 axbilory unth - From 264 bo 448

2 There ¢ a Yoos W U«d&!shown 5'30.8&\!450}
v U AV

I —
2 6
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[0]7].[2] Give two human activities that affect the concentration of carbon dioxide in box
the atmosphere.

[Zmarks];
1 ortshakion , clecieases The Vetembe o) heas that
_fex. CO, fromn tha aXnpsphee.
2 (Combusion o fatks hbase (o, (nke  fha
afmosfhare.

[E The trend shown in Figure 12 may continue for many years.

Explain what effect the changing concentration of carbon dioxide in the atmosphere
could have on living organisms.

[4 marks]
(arbon  dioxcol s o preoteus2 9as | so lou, hoghas
Contubrakion Cb inereases qlo‘ou.( Wocnung .
C«‘O'oui-— Wornana  Can cp sl dnCrease ik Jw-tqp..uu...
O] 2theinse Lokatiar ottuns quuum,, ,,ﬁ(‘oools
Torms . Taes wilt haw a koo on fef on \rubda.k
Jof M2y Speies . Sone. v JpeeL s Mmou ot be abl
to hesy uy and 9o exknek, L ehenfially, haviny o
knodd on -Qﬂf%‘ vn AR 5(,M'w?. of othes speeiss
Loeiu Mo tnereased %Lmjm-ru the CO- caps  amet
glaciess will nefk u-n.b,aw.é lorgr asmaints o) woter |
ude tha geans | LQn-clMa % sex (oveds fo rise . Ths
Camses Juotins Awbufaf loss @l flocoting .
HQUQ:JU SO0rha p/%l Ms) Conil Jo Ae«,/(,/ frome A, |
_Rs, caceasees M!—miu«u anck (0, concgubrate'on
proviehts (olgak conolRong Jo p)bkcqnf-hqu Sa I
{\u\can Grovs_fachie. [0

Turn over »
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The nucleus of a cell contains DNA. | “pox

|

|
‘II Name the structures inside the cell nucleus that contain DNA. |
[1 mark]

ONnre mosStmae (D V& (¢ O'%gyisﬂd LN‘O dumogomﬁ

Figure 13 shows part of a DNA molecule.

Figure 13

|
I » Phosphate |

|
| @ Name the part of the DNA molecule labelled X. |

[1 mark] |
|
Susor |dRoxuvibosy Susar) \‘
v 1V v
|
| |
| |
| E What type of substances are labelled A, C, G and T in Figure 137 '
| [1 mark] !
|
|

oSt (ndho;gn n‘o"\) (~WM+ Cylotine, guaniag , hoocﬂz«z.e)

i

IB/M/Jun21/B481/2F
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Figure 14 shows another section of a DNA molecule. ol
Figure 14 |

|
| Y<

 Apedirs Wik T

! Z* ng worth G
|

|

' [0]8].[4] Four of the substances you named in Question 08.3 are not labelled in part Y
of Figure 14.

Label each of these substances with the correct letter, A, C, G or T.

Use information from other parts of Figure 14 to help you.

[1 mark]
' [0]8].[5] Whatis happening to the DNA in part Z of Figure 14?
' [1 mark] |
Tick (v) one box. |
|
Differentiation
|
Evolution
|
|
Fertilisation |
y |
Replication \/ "
Turn over »
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Do not wn
A gene is a length of DNA. i
What type of substance does a gene code for?
[1 mark]
proletn (codts for an aswno acid Sequerca fhak Cs
CPoLole ke A pmtrzm)
Most human body cells contain 6 x 10-12 grams of DNA.
What mass of DNA will a human sperm cell contain?
. [1 mark] |
Tick (v) one box. |
6 x 108 grams
6 x 10-'2 grams
3 x 108 grams
-
3 x 10-'2 grams v exachly \ody °é brA4o g
WYowm s are Wagplocd
Cankantng o} of Wt
Mafiod of a Ne Cel.
What is the name of the type of cell division that produces sperm cells? .
[1 mark] |
Tick (v') one box.
Binary fission
Differentiation |
Meiosis \/ ' e ‘
o Uoh nerosis
|
Mitosis 8

1B/M/Jun21/84681/2F
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A student investigated the effect of temperature on the decay of milk. box

Figure 15 shows the apparatus the student used.

Figure 15

Thermometer Mmeter

| AR
|
o o
| ON OFF
K 7) \/ Pf-7/ '\ 4 |
| N '
pH sensor Fresh milk Computer |

This is the method used.

1. Set up the apparatus as shown in Figure 15 with the milk at 20 °C.

2. Record the pH over 5 days using the computer.

3. Repeat with another batch of fresh milk at 25 °C.

' [0]9].[1] How could the student keep the milk at a constant temperature for 5 days?
l [1 mark]
|

K&P cn o Cons e l@v\.lolm.}u..& wokesr both

[0]9].[2] Give one variable the student should keep constant.

Do not refer to temperature in your answer.
| [1 mark] |

“The hun.oltudk \uﬂd
&m qonkfaug\ or (@4 shioned /S0 Shimmed)

Question 9 continues on the next page

3 1

Turn over >
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Table 2 shows the student's results for the milk at 20 °C.

Table 2
Time in days 0 1 2 3 4 5
pH 6.7 6.7 6.3 5.3 46 44
[0]9].[3] Complete Figure 16.
_ [4 marks]
: You should:
5. * label the x-axis
' * use a suitable scale for the x-axis
» plot the data from Table 2
| » draw a line of best fit.
; Figure 16
|
|
|
|
1
B
|
i
!
1
I ]
| - .
i I 2 2 4 s
“emme deo)
| [4] The data you plotted in Question 09.3 were obtained at 20 °C.
‘ Sketch a line on Figure 16 to show the results you would expect at 25 °C.
|
| . . [ Tal
| Label this line '25 °C'. [2 marks]
|
I e — — = = — = = o T - T
[ —
32
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Human body temperature is controlled within very narrow limits. box

Scientists investigated the effect of drinking ice-cold water on:
« intemnal body temperature
e the rate of sweating.

This is the method used.

1. Sit a person inside a room kept at a constant temperature of 25 °C.
2. Measure the person's internal body temperature near the brain.

3. Measure the person's rate of sweating.

4. After 20 minutes, give the person 500 cm? of ice-cold water to drink.

5. Continue to measure the person’s intemal body temperature and sweating rate for
a further 50 minutes.

‘ [1]0].[1] Give the reason why the person should not move during the investigation.
[1 mark] |

| Maw)' Wwould qpufoJe m‘—w S¢ cacease Jhe
| ‘oootg Jemmpes alure Hhaon Wﬁfo/

Question 10 continues on the next page

- . S |
Turn over »
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Figure 17 and Figure 18 show the scientists’ results. | e
Figure 17

374

I3\

37-2.__ -— e
Intemal body

temperature  37.1 |
in°C
37.04 -
‘Yt
36.8
36.7 . 3 |
0 10 20 30 40 50 60 70
T Time in minutes
Drinks
ice-cold water
|
Figure 18
| |
| |
Rate of ._ | ‘
sweating | : |
in arbitrary | .
units \ | ‘
‘\ / T
:‘VT. {0 R O I { 1]

0.0 r ; — . - : -
0O 10 20 30 40 50 60 70
T Time in minutes
Drinks
ice-cold water ‘
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[1]0].[2] Whatis this person’s normal internal body temperature? "

[1 mark]

Tick (v') one box.
36.8 °C 37.0°C 374 °C /
Ws Cs whak cFs |
Staked Qs before

The results show that when the ice-cold water was drunk, the temperature near the
brain decreased. ‘

'[1]0].[3] Explain why the temperature near the brain decreased. |
[2 marks]

As the WMC&OLMM CF (ods swlaces e
H'm:uﬂk m_pal& F s Ccoold | gaek w[‘U\ fuis cooled

bloest ﬂoq_x; to s brain o Olicrases fha bedy Josyproafiuse |
et as LM |

[1T0].[4] The thermoregulatory centre in the brain responds to the decrease in temperature.

How does the thermoregulatory centre send information to sweat glands in the skin?
[1 mark]

‘/VWO%'\- fhe narvous S\AQ*‘OM ol Coplodns Nluwrones .
ﬁ“\pwl,ms G St é’(cﬂq ‘”WM w A o rwesse4e.

'[1]0].[5] The rate of sweating changes between 24 minutes and 36 minutes. |
Explain how this change helps to maintain the person’s normal body temperature. ‘
[2 marks]

i Tue yoke g Swmﬁ‘-r\q dotreases, Sweedny @oolas Cooks
: M‘")oo(;) a3 Sweod Q»OO-PMJU };-um He ahm Y hgodt ¢

i log- by fhe bodty B eelucisy sweakn (.LSS WU
| low s0 bodly dums Jage Jo fhe hegler lowporafere.

Question 10 continues on the next page
|
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[1]0].[6] During exercise, the skin appears red. N

What causes the skin to appear red?

[1 mark] |
Tick (v) one box.

Blood vessels moving closer to the skin surface

|
|
Constriction of blood vessels in the skin ‘

Decrease in heart rate

Dilation of blood vessels in the skin \/

Dildeon - Ehpunscon
o] Ha lumen of |
b vessles |

Turn over for the next question
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[1]1] Decay occurs in a compost heap. e

Figure 19 shows a compost heap.

| Layers of
' dead plant < :
, ; Thin layers
%
l material of soil
Describe:

* how microorganisms in the layers of soil help to recycle chemicals in the
dead plants

 how the chemicals are used again by living plants.

[6 marks]

Doadl plant contacn ok hedds o wiedud pmoleowhds |

but these ar ‘A'xn.d up ta lorge complex
roltcdes The }.moﬁ'm c';/ mecroorgasms 06 Ww
os bo  break do:m these lasge violeaudes Alo smatllar ooy
Th.v,, Use LNomen to ' cleawe g Snvaller policedes that
tha con than mofokolise G repiradion, QOrganc
ol des g,e} convesRd |y cosbon oleoxrde thadk s Kleaged
Cale fho afmocphee. Olhar seedbtar ntaased cons  glso
oph 1eliased cbo AR Compost uch as pubaks and
'{)"‘09plwh-s ges 2 aumpl -

I
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uses N rodeg Lopraronu_ Omine ackods  hal Nty Ly

b, plant

b

protecns. ff‘w_b also \usSe rf)l"omh‘d'g vn ths Susa- -

?ho;pkﬂl’ﬂ— bewk_boat %/ DA . %"WR—, 'l‘fub Can

-l-aJu_u.p

P Corbon dhoxcole Jrom e obuosphee

Prowh these clomata by olbffusion anmd tge # ca

plwkr Ss-_,m“a-s.::. The's producu Sugas dor P 'plowu-

}ew;f« ﬁrbu*"\ Qd repectr a.m/;gﬂv\na&ccﬁ)on.

Do nol write
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box
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